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QUESTION 1

Which three characteristics of SOA can make a business more agile?
A. Defining rules for business

B. Enforcing governance processes

C. Creating components that can be shared

D. Maintaining up-to-date application interfaces

E. Building applications from reusable components

F. Changing the implementation without affecting the consumers

Correct Answer: CEF

QUESTION 2

When releasing a new service version, which changes to the WSDL document are backwardcompatible?
A. Adding an operation

B. Removing an operation

C. Renaming an operation

D. Changing the parameters of an operation

Correct Answer: A

QUESTION 3
How does SOA achieve alignment between business and IT?
A. By ensuring services represent the underlying IT functions that the business must use in order to function

B. By hiding operational details allowing services to be loosely coupled and changed to suit the situation

C. By creating business processes that are direct representations of the business which can be simulated and refined

D. By providing service operations that represent business tasks allowing those operations to be used in whatever

combination the business decides is appropriate

Correct Answer: D

QUESTION 4
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Which situation is most appropriate for an SOA implementation?

A. Customer\\'s IT strategy is to use desktop applications.

B. The organization relies on a homogeneous environment.

C. Pilot and prototype development is a focus of the IT organization.

D. Parts of an application need to be developed, maintained and updated independently.

Correct Answer: D

QUESTION 5

What is one architectural principle surrounding SOA?
A. Inheritance

B. Encapsulation

C. Cross-cutting concern

D. Focus on messaging strategies

Correct Answer: B
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